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SECTION A
(2 x 10 = 20 Marks)
Answer in True/ False Only

S. No. Marks CO
Q-1 Industrial Relations means corporate relations a industry has with another industry. 2 CO1
Q-2 One worker feels his incentives are less than what he deserves. This is an industrial 2 co1
dispute.
Q-3 Only aregistered Trade Unions as per the code on industrial relations can call a strike 2 co1
Q-4 Certificate of Registration given to a Trade Union is valid for five years 2 co1
Q-5 It is mandatory for workers to give eight week notice before striking in a 2 col
Pharmaceutical company
Q-6 Right to strike is a fundamental right of the workers, therefore they have to be paid 2 col
during the striking period.
Q-7 It is mandatory for every organization to appoint ICC as per The Sexual Harassment 2 col
of Woman at Workplace (Prevention and Redressal) Act.
Q-8 In case where a domestic maid woman worker wants to make a complaint of 2
; ; . : CO1
harassment, the complaint would be made as an FIR in a local police station
Q-9 Workers Participation in Management means workers must be appointed as managers. 2 co1
Q-10 | A factory was having 8000 workers, while the requirement was only of 7000. As per 2 co1
law, the factory may layoff 1000 surplus workers.
SECTION B (4 x 5 = 20 Marks)
Attempt All Questions
Q-11 Differentiate between Mediation, Conciliation, and Arbitration, giving relevant 5 co?
practical examples.




Q-12

What are the objectives of workers participation in management? Why is WPM not
very successful in India?

CO2

Q-13

What is strike? Who is eligible to go for/ call off strike? What is illegal strike?

CO2

Q-14

What is a Negotiating Union/ Negotiating Council? Explain briefly

CO2

SECTION-C (3 x 10=30 marks)
Attempt all QUESTIONS

Q-15

An employee has been found guilty of a major misconduct. What is the correct
procedure to initiate and promulgate legal action against him? Give a detailed
account.

10

CO3

Q-16

What are the various fundamental approaches to Industrial Relations? Explain each of
the approaches with relevant examples

10

CO3

Q-17

What is lockout? Who are eligible and authorized to declare a lockout? What is the
rationale behind lockout?
Differentiate between lockout and strike

10

CO3

SECTION-D

Q-18

For Bata, labor had always posed major problems. Strikes seemed to be a perennial
problem. Much before the assault case, Bata's chronically restive factory at Batanagar
had always plagued by labor strife. In 1992, the factory was closed for four and a half
months. In 1995, Bata entered into a 3-year bipartite agreement with the workers,
represented by the then 10,000 strong union BMU, which also had the West Bengal
government as a signatory.

On July 21, 1998, Weston (HR Manager) was severely assaulted by four workers at
the company's factory at Batanagar, while he was attending a business meet. The
incident occurred after a member of BMU, Arup Dutta, met Weston to discuss the
issue of the suspended employees. Dutta reportedly got into a verbal duel with Weston,
upon which the other workers began to shout slogans. When Weston tried to leave the
room the workers turned violent and assaulted him. This was the second attack on an
officer after Weston took charge of the company, the first one being the assault on the
chief welfare officer in1996.
In February 1999, a lockout was declared in Bata's Faridabad Unit. Middleton
commented that the closure of the unit would not have much impact on the company's
revenues as it was catering to lower-end products such as canvas and Hawaii chappals.
The lock out lasted for eight months. In October 1999, the unit resumed production
when Bata signed a three-year wage agreement.

On March 8, 2000, a lockout was declared at Bata's Peenya factory in Bangalore,
following a strike by its employee union. The new leadership of the union had refused
to abide by the wage agreement, which was to expire in August 2001. Following the
failure of its negotiations with the union, the management decided to go for a lock out.
Bata management was of the view that though it would have to bear the cost of
maintaining an idle plant (Rs. 3 million), the effect of the closures on sales and
production would be minimal as the footwear manufactured in the factory could be
shifted to the company's other factories and associate manufacturers. The factory had
300 workers on its rolls and manufactured canvas and PVC footwear.

(15+15
) =30

CO4




In July 2000, Bata lifted the lockout at the Peenya factory. However, some of the
workers opposed the company's move to get an undertaking from the factory
employees to resume work. The employees demanded revocation of suspension
against 20 of their fellow employees. They also demanded that conditions such as
maintaining normal production schedule, conforming to standing orders and the
settlement in force should not be insisted upon.

In September 2000, Bata was again headed for a labour dispute when the BMU asked
the West Bengal government to intervene in what it perceived to be a downsizing
exercise being undertaken by the management. BMU justified this move by alleging
that the management has increased outsourcing of products and also due to perceived
declining importance of the Batanagar unit. The union said that Bata has started
outsourcing the Power range of fully manufactured shoes from China, compared to the
earlier outsourcing of only assembly and sewing line job. The company's production
of Hawai chappals at the Batanagar unit too had come down by 58% from the weekly
capacity of 0.144 million pairs. These steps had resulted in lower income for the
workers forcing them to approach the government for saving their interests.

Q-1 Analyzing the case, discuss what are the root causes for continuous labour unrest
in Bata?

Q-2 What transformations do you suggest Bata must make in its IR policy in order to
have a better working environment. Which approach to IR should be used by Bata?
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